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SOLUTION

Unit Settings: SI C bar kJ mass deg
COP =0,3136

AExns = 22,79 [kW]
ATcondenser =5

ATeva =3 [C]

dTrec = 10 [C]

nex = 0,2095

ne = 0,7

haiHzo = 54,64 [kJ/kg]
hse = 2567 [kJ/kg]
mH20 = 0,137 [kg]

n =50

Q12 =21,12 [kW]
Q2122 = 34,76 [kW]
Q23 = 1,395 [kW]

Q34 = 98,6 [kW]

Qs9 = 33,38 [kW]
startcond = 50

Wi117 = 0,001413 [kW]
Whet = 4,275 [KW]

362 potential unit problems were detected.

AEXcold = 0,4985 [kW]
ATabsorb =10 [C]
ATdesorb =10 [C]
dhcond = 6,12 [kJ]
endcond = 100

n! = 0,3564

'r‘lt = 0,8

hazv2o = 33,71 [kJ/kg]
iss =0,6

muisr = 0,1692

Quo11 = 31,36 [kW]
Que17 =93,7 [kW]
Q2223 = 65,24 [kW]
Q24 =100 [kW]

Q3,34 = 63,84 [kW]
Qs.89 = 1,262

To =288,2 [K]

We7 = 4,277 [kW]

x7 =0,9749



